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SEVCOW BQﬁng(\B’QJL 30, w8 J;,é&ilfo WOTD eaoiﬁd@t BRODTITTS. 40x1=40

Choose the best option. Each question carries One mark.

50300 BT GO
(a) g(ﬁoof ad@ﬁgzﬁ&bdi BTV g—mrj)é 9023903 TR

(b) 23 Fado wri8odn) DB FFDY

(c) SRISD J0D0 ©0:YY w9 edriwsNeRd

(d)  a@o&w0zenies dorySeedn’ soed 5°FY) Jo@er STBees e VR30I ©0RRAZE

Studies of self-awareness have found that

(a) Self-awareness is not necessary for one to have a self concept

(b) It is not possible to disengage one’s self awareness

(c) Humans are the only animals who are self-aware

(d). It may rely on the presence of spindle neurons in the anterior cingulated
cortex.

03003 BeBey) Qe s g 8y 1970 3y 1980 T B833 deesds 00T vOe e adoeN
a‘irad&i/a&lé)‘cﬁ 7

(a) 92Dy (b) %@t (c) 23exdo (d) oe0s
Which country emerges as an economic superpower and the toughest
competition in the worlds market of the 1970s and 1980s ?

(a) America (b) Japan (c) China (d) India

98868;\&)5&30’ xﬁoa’wae\ii) 03093 HoTBNRY Beghaeon §a3$@7\b§c3 ?

(a) ci}ﬁ)eg’o‘? e &) VO TID (b) o8¢ wadevasd

(c) WRBETDRON® (d) SPDTJoTBS

Which communication can clarify the doubts of the receiver very fast ?
(a) Posters and banners (b) Fox advertising

(c) Broadcasting (dj Oral communication

“adR0a]; 9w Q/acg D03y ;)’ocd&éio’i‘g 7 HI0x ey ¥30303ed ?

(a) T BT Yoo (b)  e929,0d HAFA

(c) wBus waedon (d)  ~esem el

What do you call “The communication to a mass of people or bigger group” ?
(a) Public speech (b) Exchanging opinion

(c) Official chatting (d) - General talk

P.T.O.
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295000z abadaﬁégai) ARSNRTT-3DET &mrﬁw@t 03093 e3e)BT) a%a)‘aé@?omgd ?

(@) oder (b) s & Agert
(c) & Ppewse (d)  Rox° S05° sedorse

Which author defined the socio-economic segmentation of the American
market ?

(a) Edsel- (b) Alfred P. Sloan
(c) Henry Ford (d) Cyrus Mc Cormick

cDE\);%EQ’)Ci) qﬁaa'ga? [Clam) VE0ITT Srie NG, W SFadwn @’Q(ﬁi FOVC BB éﬁ@’g

SIS,

(a)  Fodo- wezDesTen (b) 3 =OBYS

(c) SEiaRlety (d)  Zodo-dodogeo

—______ 1is the positive or negative way an individual views himself or
herself.

(a) Self-actualisation (b)  Self-concept

(¢) Self-esteem (d) Self-regulation

%os 7208 esiesdearieh VT EBeedadnN ?

(a) RRGO-T90° (b) N6~

(c) AYO° (d) e ey
Knowledge-based innovations is the entrepreneurship ?
(a) Super-star (b) Small-star

(c) Star (d) None of these

NROVHE J-2ri8ren 1996 J¢) adech waésjaéﬁéﬁﬁi 0erEI83 ?

&
(a) 2 3 (b)  Sgzmecoxs

(c) Sox* (d) ﬁe&b: @ odoo®

Who offered definition in 1996 for significant self-awareness ?
(a) G. Stonley (®) Le Frannaois'

(c) Mullis (d) Wayne Dyer
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9.

10.

L1,

12.

DO .2, Q3 HREIE TRD DX ?

(a) 6’&)&5\ escﬁéé’ab TODI

(c) BaQuET 3xN sl

What is the full form of LPC ?

(a) Least Preferred Const.

(c) Labour Private Corporation

QeFETIOT MOON

(a) 2TOOW BBY TR M WGF é?&u)
() 2080 IRE BPD FED
Long-term goals are :

(a) Five to ten years or more

(c) One year or less

RJV0RBE B0 F0BT DR FE0INVIT ?
(a) 2308

(c) eaédé’

What is followed by refreezing ?
(a) Movement

(c) Instability

29530008 B0SBS DOTSERD ?

(a) @8, RosBS

(b)  BBYR) W Homes

(c)  Roakod) WHRETT Baews

(d) 520350 JoTHS

(a) Visual communication

(b)
(d)

(b)
(d)

What is non-verbal communication ?

FoETOM 3TI VeBLS
R BOT WIS

Labour Preferred Cost

Low Price Cost

RRTOOT DT JREMYD
30T 03B e 9

Three to five years

None of the above

£923030C
ST Qwe3ie ¥

Stable

None of the above

(b) The communication without using works

(c) By using numbers

(d) Actionable communication

GS-685

P.T.0.
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13. odeensy s8aius 7\)’073@3 ;

(@) e (b)
(c) Bz (d)
Yoga is a culture which prevents :

(a) Stress (b)
(c) Disharmony (d)

14. Zxbodb d3ems30) FYNS Doossrieh Qe ?

(AT

deen
e NSO

Disease
All of the above

238083
DT 2

JIT

(a) V2 DBeses (b)

(c) D Cedne DBewss (d)

Which are the following methods of time management ?
(a) ABC analysis (b)

(c) = Pareto analysis (d)

All of the above

15. =3 meses WEBNT e9ordevesen) 30ET F0BNY 9T VLTIV 8&% ARGINDI 930

() aexNAIRA Yoo esdey (b)
(¢)  wewdsaRN Foso- b (d)

WRRRTIE) 5GBS
Fodoo- o083 Be

People are more likely to act in line with personal beliefs than to conform to

social pressures when they are
(a) Privately self-aware (b)
(c) Publicly self-aware (d)

16. & ﬁﬁfﬁa’@‘)m}@, 0300330 rHH8e)

[N}

(a) B\SKIRle) (b)  ev8oOEG

Low in self-esteem
Not self-regulating

&3 Bed0d o3z Q) ?

Which of the following is not a recognised type of Plan ?

(a) Business (b)  Succession

17. 080D @5@51%5&) D0 eugSedsennigs ?

(a) ~ox3wesw 5Oy e (b)
(c) Sy 5O Tieh (d)
Interpersonal skills are referred to as :
(@)  Social skills (b)
(¢) Soft skills (d)

(c) ERERV (d) Seowomd
(c) Ad hoc (d) Financial
zzﬁdﬁaeﬁ@émb

d&e@d@@n)dj&

People skills
All of the above
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e 59903 DR WTorZE ?

[F1]

[

a] ORI &3S (b)  oe 0B FAETAY
PR 930 DT ISE N (d) ePIIritb R godoned
What is revealed by the posture ?
41 Cultural background (b) Thoughts and feeling
¢) . Behaviour mild or tough (d) Expressions and actions
19. %38 A ®B d3cmBo 8cWed WIBR 31)(,)8032,5?)5)L 33D
(a) DI (b) DI SEIDS
(c) R (d) =8
Stress management training is based on a  theory of stress.
(a) Cognitive (b) Cognitive behaviour
(c) Psychodynamic (d) Behavioural
20. megs SV AN m&)edé:éﬁ 23 2,000 BITBIY, A 23eB3.
(@) R (b) Soszes (c) @ (d) ©omosY

The expected success is not just an opportunity for innovation, it demands

(a) Creation (b) .Technology (c) Money (d) Innovation

21. 8388 0373 Dedod TN ?

(a) 6IOMRYE WS (b) 0392088 ARG

(c) ﬁm%e%@mcﬁaﬁ (d) . awe@e Y

Which type of device is telex ?

(a) Telegraphic device (b) Mechanical device
(c) Computerized device (d) None of these

22. Seexs Teer® aowsdexn ?

(a) %edes Fod (b) FBIFOOL 303

(c) g Bgod 0T A6 (d) Sodaed esoguies’
What is Morse code ?

(a) Secret number (b) Adventurous act
(c) A setof sound symbol (d) Alphabet over wire

D P.T.O.
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23.

24.

25.

26.

03090) WEORTE macj@omdg 'e;’oabéoé%@@p)c? 7

(a) @ (b)
(c)  BbI0° (d)
Who invented change model ?

(a) Drawin (b)
(c) Kottar | (d)
R0BEB DI ?

(a) &ods W3 2BFODP

(b)  dBeeBIen/ escdedPen w0 DREIBES
(c) I ®§@L 80033

(d)  SedS oo

What is signal ?

(a) A previously agreed movement
(b)  Helps to direct/command

(c) Shows the future direction

(d) - All the above

rbeee Jedore AWR08Y) B8 TN,

(a) SeR @3’ (b)
(c) ol (d)
Goal setting theory is pioneered by :
(a) Stacy Adams (b)
(c) Charms (d) -

ROBHTEY Q300e3 Ho3BFey) oSN ?
(a) Rom®s wSoHePAS (b)

(c)  Beveon a%eons) (d)

Which communication is very slower in
(a) Written communication (b)

(c) Outdoor advertisement

(d) .

SO

SedS AR 9

Lewin

None of the above

RBE Tt
&S

DG’ BUY,. e’

Edwin Locke
F.W. Taylor

38 W8T ST
e adoesyEe )
communication ?
Newspaper media

None of the above

AT
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29.

30.
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27.

030953 D8O RoTBTR) B Joad0 %RON BoeBI™) SR8 ?

(a) s (b) @

(c) R SoG 8 83 (d) eI DY

Which type of communication conveys the message to the large number of
people ?

(a) Newspaper (b) Language

() Mass Media and TV (d) All the above

3530030 3 BES0 I o3y ?
) =S pepiae S8 T3

(b) TR WIB
LERY a;)_@aid EVOR:

d) 0o YT

What are the benefits of time managements ?

(a) Greater productivity and efficiency

(b) Less stress

(c) A better professional reputation
(d) All of the above

WS HOTT

(a) WG (b) 0308 BISRETT talod

(c) egodmer B3 (d) TeBodber B

Stress 1s :

(a) »External force (b) Internal resistive force
(c) Axial force (d) Radial force

rb&ﬁef@( 2023 O DeFETIOT q)% 08 eaogeﬁ@ob N S QeBIBT.
(a) P (b) Beoe

(c) ¢ @@a@dd@ (d)  S0edR QP

Setting goals gives you long-term vision and short-term ______ .
(a) Value (b) Motivation

(c) Innovation (d) Al of the above

P.T.O.
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31.

32.

33.

34.

35.

0300 85798 &)d@‘a'@’iﬁ?&b&’&) [CIAMD) k’oéf&i&“ﬁﬁiﬁg{ S00TDSBFE:S ?

(a) B3 (b) ST

(c) 2oDecdT (d) wwRPEe Y

What shocks have continued to impose change or organizations ?
(a) Economic (b) Psychological

(c) Physiological (d) None of these

03093 DO03TID @S§ VPR VDY @@E@Ma’azﬁg 08 110 FGFSMRN BIBITID ee@ea‘cif_yx.;;jddi

39,09, D5 08 B3 FGHFODR) 03003 GLFodw BRI ?
(a) o3 (b) Bed3
(c) @RTOPREI (d)  BIrve) adnyEe QL)

Which structure refers to the extent to which a leader is likely to define and
structure his or her rote and those of subordinates in the search for goal

attainment ?
(a) Organization (b) Hierarchical

(¢) Initiating (d) None of these

030033 SRE B SepgPe000° Memese J-2er]dr yaaRrTR) DerYE ?

(a) 1993 (b) 1983 (c) 1996 (d) 1986

In which year Le Frannaois offers definitions for significant self-awareness ?
(a) 1993 (b) 1983 (c) 1996 (d) 1986

B QeI 0TT.

(a) B (b) wo (c) ﬁoﬁzdfge) (d) Sogz=

Innovation means.

(a) Work (b) Strength (c) Resource (d) Technology

SGOAT TS wamr® 3 WoNENTIRY ST !

(a) 1869 (b) 1879 (c)” 1867 (d) 1877
Japan opened there doors to the modern world in :
(a) 1869 (b) 1879 (c) 1867 (d) 1877

a4

e
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(a) TR (b) R (c) o (d) e
How many leadership behaviours are there ?

(a) Two (b) Three {c) Four (d) Five

Qjoa’“:ow NZc B SCLE® WOTD F00aNG.

(a) PepeTe (b) dDes3

(c) %gﬁémﬁ (d) B 0dnYTe BY

The ~_success is a challenge to management’s Judgement.
(a) Normal (b) Unexpected

(c) Forever (d) None of the above

NS 3 03orieh G Rdnvod 93330001 F0SBS FIWEE)T 2O YUTRBTFBC3NG

(a) SPDs BoS[ed (b) e FoIBT

(c) ©oR’-Bweo® 0SB (d) woREe BY

Communicating with others by gestures, actions, etc. is an example of :
(a) Verbal Communication (b) Action Communication

(c) Non-Verbal Communication (d) None of these

9. O BUNTIIVE) 3T SITHT 0088 FTHIE HOOTETIY ?
(a) 508 (b) B (c) a3 (d) Rosesr

Which of the following is not an attribute of psychological individual difference ?

(a) Motivation (b) Learning (c) Personality (d) Complexion

0. SRITY SIATNDY 303 FINTINYY 035esyc0 ?

() @IETIREO (b)  Sddore

(c) B&mﬁdd@ (d) Bodesds® S

Which of the following shows the process of creating something new ?
(a) Business model (b) Modelling -

(c) Innovation (d) Creative flexibility

D P.T.O.
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SEVECEW! escﬁgoi)ﬁ&) 80R. ©3 ggcm/a 2 @oﬁd@ BRI, 15x2=30

Choose the best options. Each question carries 2 marks.

41. 0% BReE BT 0T Ty Rg&iﬁ%fﬁi Q3T LoD [ozsRelg ﬁJaésdajn’, CIn VN

(a) Go0E3GON’ (b) == 03) (c) A, (d) =g

When a group gives some of its leadership positions to the member of other
group, it is :

(a) Contracting (b) Co-opting (c) + Co-alition (d) Competition

42, waodoﬁ’gc‘d OBSPE 03Ty ?

(a) 2owe (b)  PRS&ROBID
(c) 7S es50d8 (d) OBerss
Which is the leadership behaviour ?

(a) ~Supportive (b)  Participative
(c) Achievement oriented (d) Directive

43. DRODTT Foho BIIDID0T 08y 8F Dodod® TyRTDos e:mcj;aosmemgl

BTARETWEIR) .

(a) BhmemTs (b)  QdComendEd (o) &30 e (d) ed50mE

o Leader is self-confident and can attract followers by his great
influence.

(a) Charismatic (b) « Autocratic (c) Laissez-faire (d) Bureaucratic

44, WY m&iﬁs’gd a;@ai)@t 200K~ 2,008 635 Bed dore mm@d@ D LVYFeDRFI ?

(a) 08 e250° e3ewers (b) Oerzs Ne®

(c) SopSewdates eewes (d) VY0 9¢)

What refers to a nine-by-nine metric outlining different leadership style ?
(a) Manager table (b) Managerial grid

(c) - Managerial table (d) None of these
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45.

46.

47.

48.

B8 FPNSY NS od=Iicd V20IBE AWI0BIL ?

(a) oge ACR08 (b) FBeRFab AR08

(c) BBLT AR08 (d) aIndeze

Which one of the following is/are leadership theories ?
(a) Trait Theory (b) Behaviour theory
(c) Contingency theory (d) * All of these

38 TYNIY P 0300 aa&bﬁgci 636’?;6 ?oogoéwg ?

(a) D022 ATROZ (b) =3 eees A0S

(c) S - adbBes - wiiee ACROZ (d)  20° Seod)s aaobts’g

Which of the following is not a contingency theory of leadership ?
(a) LPC Theory (b) Path goal theory

(c) Vroom-yehon-jago theory (d) - Job centred leadership

03093 MADTFRD TS rb@rwzdi BRODTOBYS 03 L93203T0000M e EDY TS BB e SR
WORSIT ?

(a) Aders (b) OGS 35008

(c) owe (d) Penx&bossdd

Which leader sets challenging goals and expects followers to perform at
their higher level ?

(a) + Directive (b) Achivement oriented

(c) Supportive (d) Participative

VR0FIE 598’ - 11ReeD BPED 03T HOWOHET ?

(a) Soebdrnf QIR 308 OoEFE TZORK®

(b)  Fe® @egor

(c) Deess

(d) zacdor®

Path—goél model of leadership was introduced by :
(a) - Martine Evans and Robert House

(b) Fred fielder

(c) Whetton

(d) Cameron

P.T.O.
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49,

50.

ol.

52.

—BR cﬁdgo’ emgeén’%?mﬁ g‘aagwood BATUWEB) 0T T, Wess

TG i

(a) eoss (b)  dodogen (c) 20053 (d) Deesavss :
is the ability of influencing people to strive willingly for mutual t

objectives.

(a) Motivation (b)  Control (c) Leadership (d) Supervision

FOTBIFS) D0 WPFeRAS ?

(a) Fodesrish (b) s

(c) Swaes (d) QRYYTR B
What is used in communication ?

(a) Signals () Language

(c) Facial expression (d) None of these

ARIE AT LIV OBSER ?

(a) Bexds Y03 (b) YUT0R

(c) FRe®Fozss (d) AR, DR W Séd
What is public speech ?

(a) Public opinion (b) Lecture

() Mass Communication (d) Information about general topic

030953 TOLBD 93003 VDeETORAI o) 890uRa ?

(a) ez (b)  PenzdTH
(c) P speds (d) Sowe

Which leaders know what is expected of them ?

(a} Directive - ~ -~ .. : (b)  Participative

(c) Achievement oriented (d) Supportive
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53.

54.

55.

DDA WA YOS

(a) odwwenewe gD D008 £ DBeaes
(b)  ee3es® v8a Aadog e DBexss

(c)  odwseriewn e2)3a dobogen HBexss
(d)  odwawriemn sugsd Ssen dFesss

ABC analysis expand :

(a) Always better control analysis

(b) Alright better control analysis

(c) Always best control analysis

(d) Always better copy analysis

Q3003 oIBY) Br0200 SereenNdes ?

(a) Svapes (b) w3 IV

(c) SPDz S (d) 2aREe g

Which communication is very fast ?

(a) Facial expression (b)  Written expression
(c). Oral expression (d) None of the above

__ A0BB &’a’g XPe), FOIND, Sodrieh, 9%, 0301, Mgy 3y Sgaen

WODROT.

(a) SPDSSosE (b)  IPDT FosH

(c) Sreaadhesss (d) FDPeReads

___________ communication our value, ideas, beliefs, opinions,needs and wants
freely

(a) Verbal communication (b) Non-verbal communication

(c) Negotiation (d) , Assertiveness

-00o0-

P.T.O.



